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<15%sand ——— 3

W
> 15% sand——>
GP? < 15% sand ——>
>15%sand——>
GW-GM ? <15%sand —— 3
> 15% sand—>
GW-GC << 15% sand ——>
>15%sand——>
GP-GM ? < 15% sand _—
>15% sand ——— 3

GP-GC -<: <15%sand 5

> 15% sand ——
GM -<< 15% sand ———»
2 15% sand——————>
GC << 15%sand —
>15% sand———— >
?C-GMY < 15% sand ————»
>15%sand ———>
SWY < 5% gravel ———>
> 15% gravel >
SP -ﬁ < 15% gravel ————>
> 15% gravel ————>»
SW-SMY < 15% gravel ————>»
> 15% gravel ————>
SW-S8C Y < 15% gravel ———————»
>15% gravel ———>»
SP-SM -<: < 15% gravel ———>
> 15% gravel ————>
SP-SC Q < 15% gravel ——>
> 15% gravel ———>
SM << 15% gravel ———>
> 15% gravel ————>
SC < < 15% gravel —— 3
> 15% gravel ——>»

SC-SM<< 15% gravel ———>
> 15% gravel ——>

Well-graded gravel
Well-graded gravel with sand

Poorly graded gravel
Poorly graded gravel with sand

Well-graded gravel with silt
Well-graded gravel with silt and sand
Well-graded gravel with clay (or silty clay)
Well-graded gravel with clay and sand

(or silty clay and sand)

Poorly graded gravel with silt
Poorly graded gravel with silt and sand
Poorly graded gravel with clay (or silty clay)
Poorly graded gravel with clay and sand

(or silty clay and sand)

Silty gravel

Silty gravel with sand
Clayey gravel

Clayey gravel with sand
Silty clayey, gravel

Silty clayey gravel with sand

Well-graded sand

Well-graded sand with gravel
Poorly graded sand

Poorly graded sand with gravel

Well-graded sand with silt
Well-graded sand with silt and gravel
Well-graded sand with clay (or silty clay)
Well-graded sand with clay and gravel

(or silty clay and gravel)

Poorly graded sand with silt
Poorly graded sand with silt and gravel
Poorly graded sand with clay (or silty clay)
Poorly graded snad with clay and gravel

(or silty clay and gravel)

Silty sand

Silty sand with gravel
Clayey sand

Clayey sand with gravel
Silty clayey sand

Silty clayey sand with gravel

oy

Gravel = 3

Sand = auls

Well graded =55 gauals

Poorly graded= o, gouails Silt= v

Clay =,

Organic— i

liwiganic= JI,.¢

Lean clay= &Y w,

Fat clay=3l> _w,

Silty sand= oY awls

Clayey sand=l>_, awls

Silty gravel=,lss¥ o5

Clayey gravel=,lo_pw, o»5
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<30% plus No. 200 A <15% plus No. 200 » Lean clay
PI>7 and plots —3 CL 15-29% plus No. 200 ﬂ Yosand 2 Yogravel ———» Lean clay with sand
gvu - Ysand < %gravel ——————> Lean clay with gravel
M.W_M”uw v 2 30% plus No. 200 Ysand > Y%gravel AA 15% gravel ———— > Sandy Lean clay
2 15% gravel ——————> Sandy Lean clay with gravel
Y%sand <%gravel A <15% sand ———— Y Gravelly Lean clay
215%sand 3y Gravelly Lean clay with sand
<30% plus No. 200 A <15% plus No. 200 » Silty clay
<pr< 15-29% plus No. 200 ﬂ %sand > %gravel — 3 Silty clay with sand
. 4= EVIO and plots —»CL-ML . %sand < %gravel ———————> Silty clay with gravel
Inorganic M_”_M”mw ve > 30% plus No. 200 Y%sand > Y%gravel AA 15% gravel — 3 Sandy Silty clay
215%gravel Sandy Silty clay with gravel
%sand <%gravel AA 15% sand ———» Gravelly Silty clay
215%sand 3 Gravelly Silty clay with sand
<30% plus No. 200 <15% plus No. 200 » Silt
LL<50 <4 o5 o \ 4 M" 15-29% plus No. 200 ﬂxmmﬂ_ 2 Y%gravel \w Silty with sand
bel Mn _M—o—m >ML / %sand < %gravel ———————» Silty with gravel
OW A-line > 30% plus No. 200 Ysand > Ygravel AA 15% gravel ——— 3 Sandy Silt
Organic 2 15%gravel 3 Sandy Silt with gravel
. o o o — » Gr Sil
LL - oven dried —>» OL ——> SecFigure 3.6 %sand <%gravel AA G\” sand avelly ity
<075 215%sand 3 Gravelly Silt with sand
LL - not dried
<30% plus No. 200 == <15% phus No. 200 » Fatclay
\‘ 15-29% plus No. 200 ﬂﬁ.m&nn 2 %gravel — Y Fatclay with sand
PIplots po or > CH / %sand < %gravel ———————> Fat clay with gravel
above A-line 2 30% plus No. 200 %sand. > Yegravel AA 15% gravel — 3 Sandy Fat clay
’ 2 15%gravel 3 Sandy Fat clay with gravel
Y%sand <%gravel AA 15% sand ————— Gravelly Fat clay
Inorganic 215%sand 3y Gravelly Fat clay with sand
<30% plus No. 200 <15% plus No. 200 —y Elastic silt
\ % plus No ~— w 15-29% plus No. 200 ﬂ %sand 2 %gravel — 3 Elastic silt with sand
LL= 50 ol m_oﬁm below MH / %sand < %gravel ——————> Elastic silt with gravel
A-line > 30% plus No. 200 %sand 2 Yogravel AA 15% gravel ——— 3 Sandy elastic silt
rganic 2 15%gravel % gandy elastic silt with gravel

—>» OH ——» SecFigure 3.6 —

%sand <Yogravel AA 15% sand
<075 > 15% sand

LL - oven dried

LL — not dried

Gravelly elastic silt

— 3 Gravellvelastic sitt with sand

et Y 5 (o) GBS (ol 09,5 ol g eadle yeads JJ505 0 ¥ JSis



[T

aw

G

Sl

S Sl

<30% plus }o. 200 A <15% plus No. 200 . . » Organic clay
15-29% plus No. 200 A Yosand 2 %gravel —3 Organic clay with sand

PI > 4 and plots on %sand < %gravel — 3 Organic clay with gravel

or above A-line > 30% plus No. 200 AVV Ysand > Yigravel A <15% gravel —————— > Sandy Organic clay
Yesand <Ygravel > 15% gravel ————» Sandy Organic clay with gravel
%A 15% gravel — % Gravelly Organic clay
2 15% gravel — % Gravelly Organic clay with sand
\‘ <15% pius No. 200 > O-mWE_.meE Y
<30% plus No. 200 ~a %sand > %gravel ————»  Organic silt with sand
15-29% plus No. 200 A
. . %sand < %gravel ———————> Organic silt with gravel
%sand > Yogravel <15% gravel —————> Sandy Organic silt
PI4 < or plots > 30% plus No. 200 S 150 P
below A-line 2 15% gravel ——— —» Sandy Organic silt with gravel
%sand <%gravel A <15% sand —————» Gravelly Organic silt
215%sand ——— 3 Gravelly Organic silt with sand
<30% plus No. 200 ——3 <15% plus No. 200 . .. > Organic clay
15-29% plus No. 200 ﬂ %sand 2 %gravel — % Organic clay with sand
plots on or . . %sand < %gravel — 3 Organic clay with gravel
above A-line 2 30% plus No. 200 AVV visand > Yogravel A <19% gravel | > Sandy Organic cy
Ysand <%gravel

> 15% gravel — > Sandy Organic clay with gravel
%A 15% sand ———— 3y Gravelly Organic clay

OH

\‘ <15% plus No. 200

215%sad — 3
3

Gravelly Organic clay with sand
Organic silt

\
TS 15-29% plus No. 200 A Yosand 2 Yagravel > Organie sit with sand

<30% plus No. 200
5 . Ysand < %gravel ———————» Organic silt with gravel
%sand > Ygravel <15% gravel —————>» Sandy Organic silt
plots below 2 30% plus No. 200 ic silt wi
A > 15% gravel ————— > Sandy Organic silt with gravel
Y%sand <%gravel A <15% sand ————» Gravelly Organic silt

215%sand ——» Gravelly Organic silt with sand

gravel = & sand = auls well graded = g5 sanails
poorly graded = o sauails silt = Y clay = _u,
organci = JI inorganic = J1,.¢ leanclay = &Y .,

fat clay = sl> .,
silty gravel = jlo Y i

silty snad = s oY duwle
clayey gravel = o, i
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clayey sand = s ., dula
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